
Q .1Q .1 In whic h Union Terr itory  of Ind ia  is  the Wular  L ake loc ated?In whic h Union Terr itory  of Ind ia  is  the Wular  L ake loc ated?
A nsA ns 1. Delhi

2. Ladakh
3. Chandigarh
4. Jammu and Kashmir

Q .2Q .2 Who among the fo l lowing is  known as  a  founder  of the Bharat iy a Jana S angh,  aWho among the fo l lowing is  known as  a  founder  of the Bharat iy a Jana S angh,  a
forerunner  of the Bharat iy a Janata Party  ( B JP) ?forerunner  of the Bharat iy a Janata Party  ( B JP) ?

A nsA ns 1. Deendayal Upadhyaya
2. Atal Bihari Vajpayee
3. LK Advani
4. Syama Prasad Mukherjee

Q .3Q .3 In O c tober  2 0 24 ,  the S upreme C ourt  s lammed the __________ governments  forIn O c tober  2 0 24 ,  the S upreme C ourt  s lammed the __________ governments  for
fai l ing to  pros ec ute farmers  found to  be involved in s tubble burning.fa i l ing to  pros ec ute farmers  found to  be involved in s tubble burning.

A nsA ns 1. Haryana and Bihar
2. Haryana and Rajasthan
3. Haryana and Punjab
4. Rajasthan and Punjab

Q .4Q .4 In the c ontext  of  the C ens us  c onduc ted in Ind ia ,  whic h of the fo l lowingIn the c ontext  of  the C ens us  c onduc ted in Ind ia ,  whic h of the fo l lowing
s tatements  is  acc urate?s tatements  is  acc urate?

A nsA ns 1. Census is conducted annually in India.
2. Census is primarily focused on collecting economic data of the citizens
3. Census is solely managed by the Ministry of Rural Development.
4. Census captures demographic information at a broader level.
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Q . 5Q . 5 Whic h of the fo l lowing M ughal  emperors  was  defeated by  the A fghan ruler  S herWhic h of the fo l lowing M ughal  emperors  was  defeated by  the A fghan ruler  S her
S hah S ur i  dur ing the Batt le of  C haus a?S hah S ur i  dur ing the Batt le of  C haus a?

A nsA ns 1. Humayun
2. Babur
3. Jahangir
4. Akbar

Q .6Q .6 S elec t  the c orrec t  s tatement from the fo l lowing.S elec t  the c orrec t  s tatement from the fo l lowing.
A nsA ns 1. The Sayyid dynasty was established in Delhi by killing the last ruler of the Khilji

dynasty.
2. The practice of Sijda was started by Alauddin Khilji.
3. Sijdah was a form of salutation in which a person had to kneel down and touch the

ground with his forehead.
4. After the Ghulam dynasty, the Tughlaqs took over the power of Delhi.

Q .7Q .7 Who among the fo l lowing wrote the autobiography  ‘ I  Have the S treets :  A  Kutt iWho among the fo l lowing wrote the autobiography  ‘ I  Have the S treets :  A  Kutt i
C r ic ket  S tory ’?C r ic ket  S tory ’?

A nsA ns 1. Zaheer Khan
2. Ravichandran Ashwin
3. Harbhajan Singh
4. Sachin Tendulkar

Q .8Q .8 The C hitradurga iron- ore region is  loc ated in whic h s tate?The C hitradurga iron- ore region is  loc ated in whic h s tate?
A nsA ns 1. Karnataka

2. West Bengal
3. Bihar
4. Madhya Pradesh

Q .9Q .9 Who among the fo l lowing s peakers  of  the L ok  S abha pres ided over  two s ucces s iveWho among the fo l lowing s peakers  of  the L ok  S abha pres ided over  two s ucces s ive
L ok  S abha?L ok  S abha?

A nsA ns 1. Somnath Chatterjee
2. Meira Kumar
3. Shivraj Patil
4. Balram Jakhar
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Q .1 0Q .1 0 What does  the term 'S ec ular '  imply  in the c ontext  of  the Indian C ons t itut ion?What does  the term 'S ec ular '  imply  in the c ontext  of  the Indian C ons t itut ion?

A nsA ns 1. The State promotes one religion over others.
2. The State has an official religion.
3. The State treats all religions equally without any official religion.
4. The State does not allow religious freedom.

Q .1 1Q .1 1 The firs t  s py  s atel l ite in Ind ia ,  whic h is  s et  to  be launc hed in a  S paceX roc ket  byThe firs t  s py  s atel l ite in Ind ia ,  whic h is  s et  to  be launc hed in a  S paceX roc ket  by
A pri l  2 0 24 ,  and wi l l  be us ed by  the armed forces  to  get  d is c reet  information,  isA pr i l  2 0 24 ,  and wi l l  be us ed by  the armed forces  to  get  d is c reet  information,  is
to  be made by  ______ .to  be made by  ______ .

A nsA ns 1. Indian Space Research Organisation (ISRO)
2. Hindustan Aeronautics Limited
3. Tata Advanced Systems Limited
4. Astrome Technologies

Q .1 2Q .1 2 Whic h of the fo l lowing A c ts  c reated a unified adminis trat ion for  Ind ia ,  unit ing theWhic h of the fo l lowing A c ts  c reated a unified adminis trat ion for  Ind ia ,  unit ing the
three pres idenc ies  under  the author ity  of  the G overnor  of Bengal?three pres idenc ies  under  the author ity  of  the G overnor  of Bengal?

A nsA ns 1. Government of India Act, 1919
2. Regulating Act, 1773
3. Pitt's India Act, 1784
4. Charter Act, 1813

Q .1 3Q .1 3 A t the 2 0 2 5 BRS  CO Ps ,  held  in G eneva,  whic h key  areas  d id  India  emphas is e underA t the 2 0 2 5 BRS  CO Ps ,  held  in G eneva,  whic h key  areas  d id  India  emphas is e under
the leaders hip of E nvironment M inis ter  Bhupender  Yadav?the leaders hip of E nvironment M inis ter  Bhupender  Yadav?

A nsA ns 1. Plastic pollution, access to finance and technology and sound chemical waste
management

2. Only biodiversity conservation and climate change finance
3. Deforestation policies and global carbon pricing mechanisms
4. Marine resource exploitation and space debris management

Q .1 4Q .1 4 The Third  United Nations  c onference on A fghanis tan was  held  at  whic h place inThe Third  United Nations  c onference on A fghanis tan was  held  at  whic h place in
June- July  2 0 24 ,  whic h was  a ls o  attended by  the Tal iban for  the firs t  t ime?June- July  2 0 24 ,  whic h was  a ls o  attended by  the Tal iban for  the firs t  t ime?

A nsA ns 1. Tehran
2. Doha
3. Dubai

4. Baghdad
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Q .1 5Q .1 5 A cc ording to  the C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing s tates  has  theA cc ording to  the C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing s tates  has  the
highes t  percentage of Hindu populat ion?highes t  percentage of Hindu populat ion?

A nsA ns 1. Odisha
2. Assam
3. Manipur
4. Himachal Pradesh

Q .1 6Q .1 6 Who was  the Pr ime M inis ter  of  Ind ia  from 1 991 - 1 996?Who was  the Pr ime M inis ter  of  Ind ia  from 1 991 - 1 996?
A nsA ns 1. Atal Bihari Vajpayee

2. HD Deve Gowda
3. Chandra Shekhar
4. PV Narasimha Rao

Q .1 7Q .1 7 Who among the fo l lowing attended al l  the three round table c onferences  held  inWho among the fo l lowing attended al l  the three round table c onferences  held  in
L ondon?L ondon?

A nsA ns 1. Mahatma Gandhi
2. Bhimrao Ambedkar
3. Jawaharlal Nehru
4. Lala Lajpat Rai

Q .1 8Q .1 8 Bals has tr i  Jambhekar  s tarted the firs t  A nglo- M aratha news paper  ‘Darpan’ in theBals has tr i  Jambhekar  s tarted the firs t  A nglo- M aratha news paper  ‘Darpan’ in the
y ear  ______ .y ear  ______ .

A nsA ns 1. 1835
2. 1833
3. 1832
4. 1834

Q .1 9Q .1 9 Whic h of the fo l lowing c ountr ies  s igned a B i lateral  Inves tment Treaty  with IndiaWhic h of the fo l lowing c ountr ies  s igned a B i lateral  Inves tment Treaty  with India
in S eptember 2 0 24 ,  a iming to  s trengthen inves tor  c onfidence and promotein S eptember 2 0 24 ,  a iming to  s trengthen inves tor  c onfidence and promote
ec onomic  c ooperat ion?ec onomic  c ooperat ion?

A nsA ns 1. Myanmar
2. Uzbekistan
3. Maldives
4. Sri Lanka
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Q .2 0Q .2 0 Whic h group of bios pheres  is  loc ated in A s s am?Whic h group of bios pheres  is  loc ated in A s s am?
A nsA ns 1. Cold Desert and Seshachalam

2. Panna and Nanda Devi
3. Sunderban and Pachmarhi
4. Dibru-Saikhowa and Manas

Q .2 1Q .2 1 What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation if  ‘× ’What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation if  ‘× ’
and ‘−’ are interc hanged and ‘÷ ’ and ‘+ ’ are interc hanged?and ‘−’ are interc hanged and ‘÷ ’ and ‘+ ’ are interc hanged?
1 1 4  + 3  − 2 5 ÷  4 1  ×  2 0  = ?1 1 4  + 3  − 2 5 ÷  4 1  ×  2 0  = ?

A nsA ns 1. 963
2. 971
3. 943
4. 956

Q .2 2Q .2 2 Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter-Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter-
c lus ters  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus terc lus ters  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter
DO E S  NO T belong to  that  group?  ( Note:  The odd one out is  not  bas ed on theDO E S  NO T belong to  that  group?  ( Note:  The odd one out is  not  bas ed on the
number of c ons onants/vowels  or  their  pos it ion in the letter- c lus ter. )number of c ons onants/vowels  or  their  pos it ion in the letter- c lus ter. )

A nsA ns 1. DZY
2. NJI
3. XTS
4. PLI

Q .2 3Q .2 3 1 2  is  related to  4 8 fo l lowing a certain logic .  Fo l lowing the s ame logic ,  7  is  related1 2  is  related to  4 8 fo l lowing a certain logic .  Fo l lowing the s ame logic ,  7  is  related
to 2 8 .  To  whic h of the given options  is  1 8  related ,  fo l lowing the s ame logic ?to  2 8 .  To  whic h of the given options  is  1 8  related ,  fo l lowing the s ame logic ?

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h
as  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  intoas  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into
1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )  

A nsA ns 1. 54
2. 72
3. 73
4. 53
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Q .24Q .24 A DV IC E  is  related to  Y ITNA J  in a  certain way  bas ed on the E ngl is h a lphabetic alA DV IC E  is  related to  Y ITNA J  in a  certain way  bas ed on the E ngl is h a lphabetic al
order.  In the s ame way ,  G ATE  is  related to  E FRJ .order.  In the s ame way ,  G ATE  is  related to  E FRJ .
To  whic h of the fo l lowing is  WE A LTH related to ,  fo l lowing the s ame logic ?To whic h of the fo l lowing is  WE A LTH related to ,  fo l lowing the s ame logic ?

A nsA ns 1. 
2. 
3. 
4. 

Q .2 5Q .2 5 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

74 1  74 1  74 9 74 9 757  757  765 765 773  773  ?  ?  
A nsA ns 1. 

2. 
3. 
4. 

Q .2 6Q .2 6 K is  the mother  of F.  F  is  the s is ter  of  P.  M  is  the s on of E .  E  is  the hus band of P.K is  the mother  of F.  F  is  the s is ter  of  P.  M  is  the s on of E .  E  is  the hus band of P.
How is  F related to  M ?How is  F related to  M ?

A nsA ns 1. Father’s sister
2. Wife’s brother
3. Mother’s sister 
4. Sister’s husband

Q .2 7Q .2 7 KJ  4  is  related to  M N 1 6  in a  certain way .  In the s ame way ,  S G  1 3  is  related to  UKKJ  4  is  related to  M N 1 6  in a  certain way .  In the s ame way ,  S G  1 3  is  related to  UK
52 .  To  whic h of the fo l lowing is  E T  2 3  related ,  fo l lowing the s ame logic ?52 .  To  whic h of the fo l lowing is  E T  2 3  related ,  fo l lowing the s ame logic ?

A nsA ns 1. HX 92
2. GY 90
3. GX 92
4. HY 90
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Q .2 8Q .2 8 S elec t  the pair  that  fo l lows  the s ame pattern as  that  fo l lowed by  the two pairsS elec t  the pair  that  fo l lows  the s ame pattern as  that  fo l lowed by  the two pairs
given below.  Both pairs  fo l low the s ame pattern.given below.  Both pairs  fo l low the s ame pattern.
Q PL −NM IQ PL −NM I
O NJ−L KGO NJ−L KG

A nsA ns 1. DBW−ZYU
2. DCY−AZV 
3. DCY−ZZU 

4. DBW−AZV

Q .2 9Q .2 9 Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion (a l l  numbers  areRefer  to  the fo l lowing number s er ies  and ans wer  the ques t ion (a l l  numbers  are
s ingle d igit  only) .s ingle d igit  only) .

( L eft)  2  4  6  7  2  1  7  9  0  5 3  2  3  2  1  3  6  8  8  6  5 4  5 7  8  8  4  4  6  4  8  0  9  7  9  7  3( L eft)  2  4  6  7  2  1  7  9  0  5 3  2  3  2  1  3  6  8  8  6  5 4  5 7  8  8  4  4  6  4  8  0  9  7  9  7  3
( Right)( Right)

How many  s uc h odd d igits  are there eac h of whic h is  immediately  preceded by  anHow many  s uc h odd d igits  are there eac h of whic h is  immediately  preceded by  an
even d igit  and als o  immediately  fo l lowed by  an odd d igit?even d igit  and als o  immediately  fo l lowed by  an odd d igit?
( Note:  zero  is  to  be c ons idered as  an even number. )( Note:  zero  is  to  be c ons idered as  an even number. )

A nsA ns 1. Five
2. Three

3. Six
4. Four

Q .3 0Q .3 0 Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .
C ounting to  be done from left  to  r ight  only .C ounting to  be done from left  to  r ight  only .
( L eft  end)  P  K J  U E  D  V  Z  R G  O  L  H F A  I  ( Right end)( L eft  end)  P  K J  U E  D  V  Z  R G  O  L  H F A  I  ( Right end)
How many  c ons onants  are there in between the letter  whic h is  fourth from theHow many  c ons onants  are there in between the letter  whic h is  fourth from the
left  end and the letter  that  is  s ixth from the r ight  end of the above s er ies?left  end and the letter  that  is  s ixth from the r ight  end of the above s er ies?

A nsA ns 1. Three
2. Four
3. Six
4. Five
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Q .3 1Q .3 1 S elec t  the option figure that  wi l l  replace the ques t ion mark  ( ? )  in the figure givenS elec t  the option figure that  wi l l  replace the ques t ion mark  ( ? )  in the figure given
below to  c omplete the pattern.below to  c omplete the pattern.

A nsA ns 1. 

2. 

3. 

4. 

Q .3 2Q .3 2 9 is  related to  54  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  1 3  is  related9 is  related to  54  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  1 3  is  related
to 74 .  To  whic h of the given options  is  2 2  related ,  fo l lowing the s ame logic ?to  74 .  To  whic h of the given options  is  2 2  related ,  fo l lowing the s ame logic ?

( Note:  O perat ions  s hould  be performed on the whole numbers ,  without break ing( Note:  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h
as  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  intoas  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into
1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )

A nsA ns 1. 124
2. 142
3. 119
4. 132
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Q .3 3Q .3 3 S even people,  A ,  B,  C ,  D,  E ,  F,  and G ,  are s itt ing in a  row,  fac ing north.  A  s its  thirdS even people,  A ,  B,  C ,  D,  E ,  F,  and G ,  are s itt ing in a  row,  fac ing north.  A  s its  third
to  the left  of  F.  B  is  an immediate neighbour  of both D and F.  D  is  not  anto the left  of  F.  B  is  an immediate neighbour  of both D and F.  D  is  not  an
immediate neighbour  of A .  C  is  an immediate neighbour  of both F and G .  A  s its  toimmediate neighbour  of A .  C  is  an immediate neighbour  of both F and G .  A  s its  to
the immediate r ight  of E .the immediate r ight  of E .
What is  the pos it ion of A  with res pec t  to  D?What is  the pos it ion of A  with res pec t  to  D?

A nsA ns 1. Fifth to the left
2. Fifth to the right
3. Immediate right
4. Second to the left

Q .3 4Q .3 4 Refer  to  the given s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting to  beRefer  to  the given s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting to  be
done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igit  numbers  only . )done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igit  numbers  only . )

( L eft)  7  8  7  7  3  9  2  6  7  4  6  8  9  9  6  4  3  2  3  7  8  3  5 8  5 5 3  ( Right)( L eft)  7  8  7  7  3  9  2  6  7  4  6  8  9  9  6  4  3  2  3  7  8  3  5 8  5 5 3  ( Right)

How many  s uc h even numbers  are there eac h of whic h is  immediately  precededHow many  s uc h even numbers  are there eac h of whic h is  immediately  preceded
by  an odd number and als o  immediately  fo l lowed by  an odd number?by  an odd number and als o  immediately  fo l lowed by  an odd number?

A nsA ns 1. Five
2. Two

3. Four
4. One

Q .3 5Q .3 5 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

3  3  ?  ?  1 2  1 2  3 9 3 9 1 0 3  1 0 3  2 2 82 2 8
A nsA ns 1. 4

2. 10
3. 6
4. 8
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Q .3 6Q .3 6 What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation,  i f  '− 'What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation,  i f  '− '
and '÷ '  are interc hanged,  and '× '  and '+ '  are interc hanged?and '÷ '  are interc hanged,  and '× '  and '+ '  are interc hanged?

3 8 + 54  − 6  ×  2  ÷  2  = ?3 8 + 54  − 6  ×  2  ÷  2  = ?
A nsA ns 1. 344

2. 342
3. 345

4. 343

Q .3 7Q .3 7 Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .
C ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igitC ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igit
numbers  only . )numbers  only . )

( L eft)  4  1  7  2  9  6  3  5 8  2  5 8  1  3  6  9  4  7  3  6  8  5 1  4  9  2  7  ( Right)( L eft)  4  1  7  2  9  6  3  5 8  2  5 8  1  3  6  9  4  7  3  6  8  5 1  4  9  2  7  ( Right)

How many  t imes  does  a  perfec t  s quare number fo l lowed by  an odd numberHow many  t imes  does  a  perfec t  s quare number fo l lowed by  an odd number
appear  in the given s er ies?appear  in the given s er ies?

A nsA ns 1. Three
2. Four
3. Two
4. Five

Q .3 8Q .3 8 What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation,  i f  ' × 'What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation,  i f  ' × '
and '− '  are interc hanged,  and '÷ '  and '+ '  are interc hanged?and '−'  are interc hanged,  and '÷ '  and '+ '  are interc hanged?

3 3 3  + 3 7  − 7  ÷  66 ×  4 9 = ?3 3 3  + 3 7  − 7  ÷  66 ×  4 9 = ?
A nsA ns 1. 69

2. 80
3. 75
4. 67
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Q .3 9Q .3 9 Three of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form aThree of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form a
group.  Whic h word- pair  DO E S  NO T belong to  that  group?group.  Whic h word- pair  DO E S  NO T belong to  that  group?

A nsA ns 1. Aeroplane - Aileron
2. Boat - Rudder
3. Car - Steering
4. Motorbike - Pedal

Q .4 0Q .4 0 In a  t ic ket  c ounter,  M r.  X  is  1 8In a  t ic ket  c ounter,  M r.  X  is  1 8t ht h  from the left  and 24 from the left  and 24t ht h  from the r ight .  How many from the r ight .  How many
people are there in that  c ounter?people are there in that  c ounter?

A nsA ns 1. 
2. 
3. 
4. 

Q .4 1Q .4 1 S elec t  the mos t appropr iate A NTO NYM  of the given word .S elec t  the mos t appropr iate A NTO NYM  of the given word .

Rus t icRus t ic
A nsA ns 1. Bucolic

2. Pastoral
3. Rural
4. Urban

Q .4 2Q .4 2 S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given groupS elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group
of words .of  words .

Inc apable of being s eenInc apable of being s een
A nsA ns 1. Invincible

2. Invisible
3. Inaudible
4. Intangible

Section : General English and Comprehension
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Q .43Q .43 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .

I  __________ that  they  are going to  bui ld  a  new s ports  c omplex .I  __________ that  they  are going to  bui ld  a  new s ports  c omplex .
A nsA ns 1. hear

2. hears
3. listen
4. hearing

Q .4 4Q .4 4 S elec t  the mos t appropr iate meaning of the given id iom.S elec t  the mos t appropr iate meaning of the given id iom.
Throw in the towelThrow in the towel

A nsA ns 1. To celebrate a victory
2. To start something new
3. To make a strong comeback
4. To give up or surrender

Q .4 5Q .4 5 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .

The mother  s tarted to  marinate the c hic ken _______ .The mother  s tarted to  marinate the c hic ken _______ .
A nsA ns 1. tomorrow

2. yesterday
3. earliest
4. while
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

I emerged into the hot sunshine and stood on the steps of the Bank, where I had stood as a
small boy some fifteen years back, waiting for granny to finish her work — I think she had
been the only one in the family to put some money by for a rainy day — but these had
been rainy days for her sons and daughters and various fickle relatives who were always
battening off her. Her own needs were few. She lived in one room of her house, leaving the
rest of it for the family to use. When she died, the house was sold so that her children
could once more go their impecunious ways. 

I had no relatives to support, but here was Williams Matheson waiting for me under the old
peepal tree. His hands were shaking.

S ubQ ues t ion No :  4 6S ubQ ues t ion No :  4 6
Q .4 6Q .4 6 S elec t  the mos t appropr iate theme for  the pas s age.S elec t  the mos t appropr iate theme for  the pas s age.
A nsA ns 1. Conflicts between generations

2. A nostalgic reflection on family and loss
3. The importance of education
4. Financial planning for retirement
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

I emerged into the hot sunshine and stood on the steps of the Bank, where I had stood as a
small boy some fifteen years back, waiting for granny to finish her work — I think she had
been the only one in the family to put some money by for a rainy day — but these had
been rainy days for her sons and daughters and various fickle relatives who were always
battening off her. Her own needs were few. She lived in one room of her house, leaving the
rest of it for the family to use. When she died, the house was sold so that her children
could once more go their impecunious ways. 

I had no relatives to support, but here was Williams Matheson waiting for me under the old
peepal tree. His hands were shaking.

S ubQ ues t ion No :  47S ubQ ues t ion No :  47
Q .47Q .47 S elec t  the mos t appropr iate tone of the pas s age.S elec t  the mos t appropr iate tone of the pas s age.
A nsA ns 1. Resentful

2. Bitter
3. Affectionate
4. Indifferent
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https://applink.adda247.com/d/XhqWf9lSap


C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

I emerged into the hot sunshine and stood on the steps of the Bank, where I had stood as a
small boy some fifteen years back, waiting for granny to finish her work — I think she had
been the only one in the family to put some money by for a rainy day — but these had
been rainy days for her sons and daughters and various fickle relatives who were always
battening off her. Her own needs were few. She lived in one room of her house, leaving the
rest of it for the family to use. When she died, the house was sold so that her children
could once more go their impecunious ways. 

I had no relatives to support, but here was Williams Matheson waiting for me under the old
peepal tree. His hands were shaking.

S ubQ ues t ion No :  4 8S ubQ ues t ion No :  4 8
Q .4 8Q .4 8 S elec t  the mos t appropr iate A NTO NYM  of the word 'fic k le' .S elec t  the mos t appropr iate A NTO NYM  of the word 'fic k le' .
A nsA ns 1. Temporary

2. Steadfast
3. Unpredictable
4. Superficial
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

I emerged into the hot sunshine and stood on the steps of the Bank, where I had stood as a
small boy some fifteen years back, waiting for granny to finish her work — I think she had
been the only one in the family to put some money by for a rainy day — but these had
been rainy days for her sons and daughters and various fickle relatives who were always
battening off her. Her own needs were few. She lived in one room of her house, leaving the
rest of it for the family to use. When she died, the house was sold so that her children
could once more go their impecunious ways. 

I had no relatives to support, but here was Williams Matheson waiting for me under the old
peepal tree. His hands were shaking.

S ubQ ues t ion No :  4 9S ubQ ues t ion No :  4 9
Q .4 9Q .4 9 S elec t  the mos t appropr iate inference that  c an be drawn about the wr iter 'sS elec t  the mos t appropr iate inference that  c an be drawn about the wr iter 's

att itude toward the grandmother  and her  c hi ldren.att itude toward the grandmother  and her  c hi ldren.
A nsA ns 1. He blames his grandmother for not helping her children enough.

2. He is indifferent to his grandmother’s life and choices.
3. He feels admiration for her frugality and disapproves of her children’s dependence.
4. He believes she should have spent more money on herself.
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

I emerged into the hot sunshine and stood on the steps of the Bank, where I had stood as a
small boy some fifteen years back, waiting for granny to finish her work — I think she had
been the only one in the family to put some money by for a rainy day — but these had
been rainy days for her sons and daughters and various fickle relatives who were always
battening off her. Her own needs were few. She lived in one room of her house, leaving the
rest of it for the family to use. When she died, the house was sold so that her children
could once more go their impecunious ways. 

I had no relatives to support, but here was Williams Matheson waiting for me under the old
peepal tree. His hands were shaking.

S ubQ ues t ion No :  50S ubQ ues t ion No :  50
Q . 50Q . 50 S elec t  the mos t appropr iate s y nony m of the word ' impec unious ' .S elec t  the mos t appropr iate s y nony m of the word ' impec unious ' .
A nsA ns 1. Wealthy

2. Abundant
3. Ungrudging
4. Impoverished

Section : General Hindi and Comprehension
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Q . 51Q . 51 '' WXWX '  '  काका   [वलो म[वलो म   शaशa   हो गाहो गा
A nsA ns 1. लdघमा

2. अgाh
3. उथला
4. महान्

Q . 52Q . 52 '' शो mणतशो mणत '  '  काका   प यr यवा चीप यr यवा ची   शaशa   हो गाहो गा
A nsA ns 1. uvधर

2. कूल
3. शुनक
4. {शव

Q . 53Q . 53 ि} याि} या   काका   उ ~चतउ ~चत   � प� प   �र ��र �   �ा न�ा न   म�म�   भर�भर�
म�म�   प � . . . . . . . . . . . . . . . . हँूप � . . . . . . . . . . . . . . . . हँू ।।

A nsA ns 1. लेखक
2. {लखता
3. {लखूंगा
4. {लखना

Q . 54Q . 54 [न�{ल�ख त[न�{ल�ख त   लो को d�लो को d�   काका   सहीसही   अथ�अथ�   प हचा न�प हचा न� ।।
बुिढ़ याबुिढ़ या   मर�मर�   तोतो   आ ग राआ ग रा   तोतो   दे खादे खा ।।

A nsA ns 1. िकसी दु�न का दूर हो जाना
2. हर बात के अ�े-बुरे दो पहलू होते ह�।
3. िकसी को याद न करना
4. बहुत खुश होना

Q . 55Q . 55 '' अप नीअप नी   क र नीक र नी   पा रपा र   उ त र नीउ त र नी '  '  लो को d�लो को d�   काका   सहीसही   अथ�अथ�   हो गाहो गा --
A nsA ns 1. अ�ाय का बोलबाला

2. अपने िकये का फल भोगना
3. मनमानी करना

4. बेसहारे का सहारा
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर [न�{ल�खत ��  के उ¡र दी{जए।

‘महाका¢’ को �बंध का¢ भी कहते ह�। पा£ा¤ सा�ह¤ म� इसके {लए ‘एिपक’ शa का �योग िकया जाता है । यह
अ¤ंत �ाचीन का¢ [वधा है। हमारे यह§ रामायण और महाभारत जैसे [वशाल महाका¢ {लखे गए ह�, {ज©� उपजी¢
क[वय भी कहा जाता है, ª िक ये परवत« का¢  और महाका¢  के ¬ोत भी ह�। इस{लए �ाचीन समय से इस [वधा
के ­�प एवं ल®ण  पर [वचार िकया जाता रहा है। महाका¢ ‘महत्’ और ‘का¢’ इन दो शa  से ¢ु¯° पद है।
‘का¢’ के साथ महत् शa का �योग सबसे पहले वा±ीिक-‘रामायण’ म� [मलता है-“कतr का¢³ महत: ´ चासौ
मु[नपुंगव: ।” इस पंd� से महाका¢ के तीन ल®ण  पर �काश पड़ता है- महाका¢ के आकार क¸ [वशालता, िकसी
महान च�र� क¸ �[त¹ा और �णेता क¸ महानता।भारतीय का¢शाº म� संभवत : सव��थम आचाय� भामह ने
महाका¢ के ­�प –[नधrरण का �यास िकया।उ© ने ­�प [वधान के आधार पर का¢ के प�च भेद िकए ह�।
महाका¢ उनम� से एक है।

S ubQ ues t ion No :  56S ubQ ues t ion No :  56
Q . 56Q . 56 ग �� शग �� श   म�म�   � यु�� यु�   �ा ची न�ा ची न   काका   [वलो म[वलो म   शaशa   हो गाहो गा  - -
A nsA ns 1. पuष

2. आ�दम
3. परो®
4. अवrचीन
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर [न�{ल�खत ��  के उ¡र दी{जए।

‘महाका¢’ को �बंध का¢ भी कहते ह�। पा£ा¤ सा�ह¤ म� इसके {लए ‘एिपक’ शa का �योग िकया जाता है । यह
अ¤ंत �ाचीन का¢ [वधा है। हमारे यह§ रामायण और महाभारत जैसे [वशाल महाका¢ {लखे गए ह�, {ज©� उपजी¢
क[वय भी कहा जाता है, ª िक ये परवत« का¢  और महाका¢  के ¬ोत भी ह�। इस{लए �ाचीन समय से इस [वधा
के ­�प एवं ल®ण  पर [वचार िकया जाता रहा है। महाका¢ ‘महत्’ और ‘का¢’ इन दो शa  से ¢ु¯° पद है।
‘का¢’ के साथ महत् शa का �योग सबसे पहले वा±ीिक-‘रामायण’ म� [मलता है-“कतr का¢³ महत: ´ चासौ
मु[नपुंगव: ।” इस पंd� से महाका¢ के तीन ल®ण  पर �काश पड़ता है- महाका¢ के आकार क¸ [वशालता, िकसी
महान च�र� क¸ �[त¹ा और �णेता क¸ महानता।भारतीय का¢शाº म� संभवत : सव��थम आचाय� भामह ने
महाका¢ के ­�प –[नधrरण का �यास िकया।उ© ने ­�प [वधान के आधार पर का¢ के प�च भेद िकए ह�।
महाका¢ उनम� से एक है।

S ubQ ues t ion No :  57S ubQ ues t ion No :  57
Q . 57Q . 57 ग �� शग �� श   म�म�   � यु�� यु�   उ प जी ¢उ प जी ¢   काका   अथ�अथ�   ªाªा   हैहै  ? ?
A nsA ns 1. {जसके सहारे जीवन चलता हो

2. {जसके नाम से रा¼ चलता हो
3. {जसके होने से भय लगता हो
4. {जसके आने से सुख [मले
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर [न�{ल�खत ��  के उ¡र दी{जए।

‘महाका¢’ को �बंध का¢ भी कहते ह�। पा£ा¤ सा�ह¤ म� इसके {लए ‘एिपक’ शa का �योग िकया जाता है । यह
अ¤ंत �ाचीन का¢ [वधा है। हमारे यह§ रामायण और महाभारत जैसे [वशाल महाका¢ {लखे गए ह�, {ज©� उपजी¢
क[वय भी कहा जाता है, ª िक ये परवत« का¢  और महाका¢  के ¬ोत भी ह�। इस{लए �ाचीन समय से इस [वधा
के ­�प एवं ल®ण  पर [वचार िकया जाता रहा है। महाका¢ ‘महत्’ और ‘का¢’ इन दो शa  से ¢ु¯° पद है।
‘का¢’ के साथ महत् शa का �योग सबसे पहले वा±ीिक-‘रामायण’ म� [मलता है-“कतr का¢³ महत: ´ चासौ
मु[नपुंगव: ।” इस पंd� से महाका¢ के तीन ल®ण  पर �काश पड़ता है- महाका¢ के आकार क¸ [वशालता, िकसी
महान च�र� क¸ �[त¹ा और �णेता क¸ महानता।भारतीय का¢शाº म� संभवत : सव��थम आचाय� भामह ने
महाका¢ के ­�प –[नधrरण का �यास िकया।उ© ने ­�प [वधान के आधार पर का¢ के प�च भेद िकए ह�।
महाका¢ उनम� से एक है।

S ubQ ues t ion No :  58S ubQ ues t ion No :  58
Q . 58Q . 58 ग �� शग �� श   केके   {लए{लए   उ प यु�उ प यु�   शी ष �कशी ष�क   काका   चयनचयन   क¸ {जएक¸ {जए ।।
A nsA ns 1. खंडका¢

2. मु�क का¢
3. च�रत का¢
4. महाका¢
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर [न�{ल�खत ��  के उ¡र दी{जए।

‘महाका¢’ को �बंध का¢ भी कहते ह�। पा£ा¤ सा�ह¤ म� इसके {लए ‘एिपक’ शa का �योग िकया जाता है । यह
अ¤ंत �ाचीन का¢ [वधा है। हमारे यह§ रामायण और महाभारत जैसे [वशाल महाका¢ {लखे गए ह�, {ज©� उपजी¢
क[वय भी कहा जाता है, ª िक ये परवत« का¢  और महाका¢  के ¬ोत भी ह�। इस{लए �ाचीन समय से इस [वधा
के ­�प एवं ल®ण  पर [वचार िकया जाता रहा है। महाका¢ ‘महत्’ और ‘का¢’ इन दो शa  से ¢ु¯° पद है।
‘का¢’ के साथ महत् शa का �योग सबसे पहले वा±ीिक-‘रामायण’ म� [मलता है-“कतr का¢³ महत: ´ चासौ
मु[नपुंगव: ।” इस पंd� से महाका¢ के तीन ल®ण  पर �काश पड़ता है- महाका¢ के आकार क¸ [वशालता, िकसी
महान च�र� क¸ �[त¹ा और �णेता क¸ महानता।भारतीय का¢शाº म� संभवत : सव��थम आचाय� भामह ने
महाका¢ के ­�प –[नधrरण का �यास िकया।उ© ने ­�प [वधान के आधार पर का¢ के प�च भेद िकए ह�।
महाका¢ उनम� से एक है।

S ubQ ues t ion No :  59S ubQ ues t ion No :  59
Q . 59Q . 59 '' का ¢का ¢ '  '  केके   सा थसा थ   महत्महत्   शaशa   काका   � यो ग� यो ग   सबसेसबसे   प हलेप हले   क ह§क ह§   [मलता[मलता   हैहै ??
A nsA ns 1. वा±ीिक-रामायण म�

2. कबीरदास- बीजक म�
3. सूरदास -सूरसागर म�
4. तुलसीदास- रामच�रतमानस म�
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर [न�{ल�खत ��  के उ¡र दी{जए।

‘महाका¢’ को �बंध का¢ भी कहते ह�। पा£ा¤ सा�ह¤ म� इसके {लए ‘एिपक’ शa का �योग िकया जाता है । यह
अ¤ंत �ाचीन का¢ [वधा है। हमारे यह§ रामायण और महाभारत जैसे [वशाल महाका¢ {लखे गए ह�, {ज©� उपजी¢
क[वय भी कहा जाता है, ª िक ये परवत« का¢  और महाका¢  के ¬ोत भी ह�। इस{लए �ाचीन समय से इस [वधा
के ­�प एवं ल®ण  पर [वचार िकया जाता रहा है। महाका¢ ‘महत्’ और ‘का¢’ इन दो शa  से ¢ु¯° पद है।
‘का¢’ के साथ महत् शa का �योग सबसे पहले वा±ीिक-‘रामायण’ म� [मलता है-“कतr का¢³ महत: ´ चासौ
मु[नपुंगव: ।” इस पंd� से महाका¢ के तीन ल®ण  पर �काश पड़ता है- महाका¢ के आकार क¸ [वशालता, िकसी
महान च�र� क¸ �[त¹ा और �णेता क¸ महानता।भारतीय का¢शाº म� संभवत : सव��थम आचाय� भामह ने
महाका¢ के ­�प –[नधrरण का �यास िकया।उ© ने ­�प [वधान के आधार पर का¢ के प�च भेद िकए ह�।
महाका¢ उनम� से एक है।

S ubQ ues t ion No :  60S ubQ ues t ion No :  60
Q .60Q .60 महा का ¢महा का ¢   िक निक न   दोदो   शa शa    सेसे   ¢ु¯°¢ु¯°   प दप द   हैहै  ? ?
A nsA ns 1. उप और �ास

2. लघु और दीघ�
3. महत् और का¢
4. महान और छुX

Q .61Q .61 Whic h tab of M S  Word al lows  us ers  to  c us tomis e the s ize of a  doc ument?Whic h tab of M S  Word al lows  us ers  to  c us tomis e the s ize of a  doc ument?
A nsA ns 1. Home

2. Design
3. Layout
4. View

Q .62Q .62 Whic h protoc ol  is  c ommonly  us ed by  emai l  c l ients  to  s end mes s ages?Whic h protoc ol  is  c ommonly  us ed by  emai l  c l ients  to  s end mes s ages?
A nsA ns 1. HTTP

2. FTP
3. SMTP
4. POP
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Q .63Q .63 Whic h feature in an email  c l ient  a l lows  y ou to  organis e emai ls  bas ed on c r iter iaWhic h feature in an email  c l ient  a l lows  y ou to  organis e emai ls  bas ed on c r iter ia
s uc h as  s ender,  date or  s ubjec t?s uc h as  s ender,  date or  s ubjec t?

A nsA ns 1. Sorting
2. Filtering
3. Searching
4. Archiving

Q .64Q .64 How c an y ou s et  an exac t  c o lumn width in M S - E xcel  2 0 1 0 ?How c an y ou s et  an exac t  c o lumn width in M S - E xcel  2 0 1 0 ?
A nsA ns 1. Right-click the column heading and choose 'Set Width'.

2. Go to the 'Insert' tab and select Column 'Settings'.
            

3. Double-click the column heading.
4. Select the column, go to 'Home > Format > Column Width', and input the exact

number.

Q .65Q .65 How c an a us er  enable the Power S aving mode in the Windows  operat ing s y s tem?How c an a us er  enable the Power S aving mode in the Windows  operat ing s y s tem?
A nsA ns 1. Select Start > Settings > System > Power & battery > Sleep

2. Select Start > Settings > System > Power & battery > Screen
3. Select Start > Settings > System > Power & battery > Energy Saver
4. Select Start > Settings > System > Power & battery > Energy usage

Q .66Q .66 Why  s hould  y ou refrain from making important trans ac t ions  on y our  s martphoneWhy  s hould  y ou refrain from making important trans ac t ions  on y our  s martphone
us ing publ ic  Wi- Fi?us ing publ ic  Wi- Fi?

A nsA ns 1. Public Wi-Fi networks are often insecure and can be used to intercept sensitive
information.

2. It helps save mobile data.
3. It speeds up the process.
4. It allows free access to paid services.

Q .67Q .67 What addit ional  protoc ols  do s ites  l ike G mail  s upport  to  enable us ers  toWhat addit ional  protoc ols  do s ites  l ike G mail  s upport  to  enable us ers  to
download mai l  onto their  mac hines?download mai l  onto their  mac hines?

A nsA ns 1. POP and SMTP
2. SMTP and IMAP
3. HTTP and FTP
4. IMAP and POP
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Q .68Q .68 If  y ou c l ic k  the three vert ic al  dots  ic on ( Vert ic al  Dots)  pres ent at  upper  r ightIf  y ou c l ic k  the three vert ic al  dots  ic on ( Vert ic al  Dots)  pres ent at  upper  r ight
c orner  of the brows er  window ( E .g .  G oogle C hrome)  and go to  the 'S ett ings 'c orner  of the brows er  window ( E .g .  G oogle C hrome)  and go to  the 'S ett ings '
opt ion from the menu d is play ed ,  then from the new tab opened ,  whic h of theoption from the menu d is play ed ,  then from the new tab opened ,  whic h of the
fo l lowing s ett ings  c an be c hanged?fol lowing s ett ings  c an be c hanged?

i .  S ett ings  of peoplei .  S ett ings  of people
i i .  A ppearancei i .  A ppearance
i i i .  S earc h E nginesi i i .  S earc h E ngines
iv.  Default  Brows eriv.  Default  Brows er
v.  S tartup and A dvance Tabsv.  S tartup and A dvance Tabs

A nsA ns 1. Only ii, iii and iv
2. Only i, ii and iii
3. i, ii, iii, iv and v
4. Only iii, iv and v

Q .69Q .69 Whic h of the fo l lowing occ urs  when y ou employ  a  template for  a  pres entat ion'sWhic h of the fo l lowing occ urs  when y ou employ  a  template for  a  pres entat ion's
s ty le and lay out in M S  PowerPoint?s ty le and lay out in M S  PowerPoint?

A nsA ns 1. They remain blank until manually configured.
2. They are automatically adjusted to previous presentation settings.
3. They default to the standard MS PowerPoint settings.
4. They are set according to the chosen template.

Q .70Q .70 Whic h of the fo l lowing c harac ter is t ic s  would  y ou apply  to  loc ate works heet cel lsWhic h of the fo l lowing c harac ter is t ic s  would  y ou apply  to  loc ate works heet cel ls
that  s at is fy  part ic ular  requirements?that  s at is fy  part ic ular  requirements?

A nsA ns 1. Data Table
2. Auto Sum
3. Sort
4. Conditional Formatting

Q .71Q .71 Whic h of the fo l lowing permits  y ou to  perform a s earc h for  a  doc ument that  wasWhic h of the fo l lowing permits  y ou to  perform a s earc h for  a  doc ument that  was
NO T s aved effec tively  in the O pen d ia log box?NO T s aved effec tively  in the O pen d ia log box?

A nsA ns 1. Compatibility Mode
2. Open and Repair
3. Recover Unsaved Documents
4. Protected View
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Q .72Q .72 Whic h of the fo l lowing bes t  des c r ibes  how antiv irus  s oftware protec ts  aWhic h of the fo l lowing bes t  des c r ibes  how antiv irus  s oftware protec ts  a
c omputer  from v irus es?c omputer  from v irus es?

A nsA ns 1. It stops the computer from connecting to any network, preventing virus
transmission.

2. It scans files and programs for known virus signatures and quarantines suspicious
files.

3. It blocks access to all external devices connected to the computer.

4. It deletes all downloaded files from the internet to prevent virus infections.

Q .73Q .73 What does  the 'Undo '  func t ion do in word proces s ing s oftware?What does  the 'Undo '  func t ion do in word proces s ing s oftware?
A nsA ns 1. Repeats the last action

2. Creates a new document
3. Cancels the last action
4. Saves the last action

Q .74Q .74 Where does  Windows  d is play  the real- t ime c loc k  on the des ktop?Where does  Windows  d is play  the real- t ime c loc k  on the des ktop?
A nsA ns 1. Top of the screen

2. Left of the taskbar

3. Centre of the taskbar
4. Right of the taskbar

Q .75Q .75 Whic h k ind of malware frequently  s preads  through network  c onnec t ions  and hasWhic h k ind of malware frequently  s preads  through network  c onnec t ions  and has
the abi l ity  to  dupl ic ate its elf  without human intervention?the abi l ity  to  dupl ic ate its elf  without human intervention?

A nsA ns 1. Trojan horse
2. Worm
3. Virus
4. Spyware

Q .76Q .76
A nsA ns 1. 

2. 
3. 
4. 
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Q .77Q .77 Whic h of the fo l lowing bes t  des c r ibes  a  Wide A rea Network  ( WA N) ?Whic h of the fo l lowing bes t  des c r ibes  a  Wide A rea Network  ( WA N) ?
A nsA ns 1. A network that connects devices within a single room or a small group of adjacent

rooms
2. A network that covers a small geographic area, such as a single building or a campus
3. A network that is designed to connect personal devices like smartphones, tablets,

and laptops within a personal workspace
4. A network that spans a large geographic area, often a country or continent, and

connects multiple local area networks (LANs)

Q .78Q .78 To c reate a  new blank  M S  PowerPoint  pres entat ion,  whic h of the fo l lowing s tepsTo c reate a  new blank  M S  PowerPoint  pres entat ion,  whic h of the fo l lowing s teps
s hould  be fo l lowed?s hould  be fo l lowed?

A nsA ns 1. File > Open > Recent Presentations
2. File > Save As > New Presentation
3. File > New > Blank Presentation
4. File > New > From Template

Q .79Q .79 How c an a us er  c hange the d is play  s ett ings  in the Windows  operat ing s y s tem?How c an a us er  c hange the d is play  s ett ings  in the Windows  operat ing s y s tem?
A nsA ns 1. Select Start > Settings > System > Display

2. Select Start > Settings > System > Devices
3. Select Start > Settings > System > Control
4. Select Start > Settings > System > Panel

Q .80Q .80 What is  the us e of S ec ure S oc kets  L ay er/ Trans port  L ay er  S ec ur ity  ( S S L / TL S )  inWhat is  the us e of S ec ure S oc kets  L ay er/ Trans port  L ay er  S ec ur ity  ( S S L / TL S )  in
email  c onfigurat ion?email  c onfigurat ion?

A nsA ns 1. To create email templates
2. To block spam emails
3. To send larger attachments
4. To secure the connection between the email client and server
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Q .81Q .81 A  train runs  at  a  s peed of 1 0 0  km/ hr  to  c over  a  d is tance of 1 50  km and then at  aA  train runs  at  a  s peed of 1 0 0  km/ hr  to  c over  a  d is tance of 1 50  km and then at  a
s peed of 1 80  km/ hr  to  c over  a  d is tance of 90  km.  Find the average s peed of thes peed of 1 80  km/ hr  to  c over  a  d is tance of 90  km.  Find the average s peed of the
train for  the ent ire d is tance.train for  the ent ire d is tance.

A nsA ns 1. 150 km/hr
2. 120 km/hr
3. 160 km/hr
4. 140 km/hr

Q .82Q .82 E valuate:  3 5 − [ 2 5 − { 3 1  − ( 2 1  − 1 4  + 9) } ]E valuate:  3 5 − [ 2 5 − { 3 1  − ( 2 1  − 1 4  + 9) } ]
A nsA ns 1. 28

2. 24
3. 22
4. 25

Q .83Q .83 A  man c overs  half  of  his  journey  at  5 km/ hr  and the remaining half  at  3  km/ hr.A  man c overs  half  of  his  journey  at  5 km/ hr  and the remaining half  at  3  km/ hr.
His  average s peed ( in km/ hr)  is :H is  average s peed ( in km/ hr)  is :

A nsA ns 1. 3.75
2. 4
3. 3.55
4. 4.15

Q .84Q .84 If  4% of x  =  2 52 ,  then x  is  equal  to :I f  4% of x  =  2 52 ,  then x  is  equal  to :
A nsA ns 1. 6300

2. 12600
3. 6400
4. 12700

Q .85Q .85 S even men c an c omplete a  work  in 1 2  day s .  They  s tart  the work  and after  5 day s ,S even men c an c omplete a  work  in 1 2  day s .  They  s tart  the work  and after  5 day s ,
3  men leave.  In how many  day s  wi l l  the remaining work  be c ompleted by  the3  men leave.  In how many  day s  wi l l  the remaining work  be c ompleted by  the
remaining men?remaining men?

A nsA ns 1. 

2. 

3. 
4. 
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Q .86Q .86 A fter  gett ing two s ucces s ive d is c ounts ,  a  table with a  marked pr ice of ₹3,0 0 0  isA fter  gett ing two s ucces s ive d is c ounts ,  a  table with a  marked pr ice of ₹3,0 0 0  is
avai lable at  ₹2 ,1 60 .  I f  the s ec ond d is c ount was  2 0 %, then find the firs t  d is c ount .avai lable at  ₹2 ,1 60 .  I f  the s ec ond d is c ount was  2 0 %, then find the firs t  d is c ount .

A nsA ns 1. 8%
2. 10%
3. 15%
4. 5%

Q .87Q .87

A nsA ns 1. 
2. 
3. 
4. 

Q .88Q .88 Ravi ' s  age 5 y ears  ago was  five t imes  Rohit 's  age.  Ravi ' s  age 4  y ears  ago was  fourRavi ' s  age 5 y ears  ago was  five t imes  Rohit 's  age.  Ravi ' s  age 4  y ears  ago was  four
t imes  Rohit 's  age.  How many  t imes  was  Rohit 's  age the s ame as  Ravi ' s  age 6  y earst imes  Rohit 's  age.  How many  t imes  was  Rohit 's  age the s ame as  Ravi ' s  age 6  y ears
ago?ago?

A nsA ns 1. 7 times
2. 5 times
3. 8 times
4. 6 times

Q .89Q .89
A nsA ns 1. 21.384

2. 24.184
3. 23.184
4. 23.194

Q .90Q .90 The average of the marks  of 1 5 s tudents  in a  c las s  is  4 9 .  I f  the marks  of eac hThe average of the marks  of 1 5 s tudents  in a  c las s  is  4 9 .  I f  the marks  of eac h
s tudent are doubled ,  find the new average.s tudent are doubled ,  find the new average.

A nsA ns 1. 30
2. 15
3. 49
4. 98

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q .91Q .91 In an elec t ion between two c andidates ,  80 % of the voters  c as t  their  votes .  FromIn an elec t ion between two c andidates ,  80 % of the voters  c as t  their  votes .  From
there,  4 80  votes  were dec lared inval id .  The winner  gets  1 568 more votes  than histhere,  4 80  votes  were dec lared inval id .  The winner  gets  1 568 more votes  than his
opponent .  I f  the winner  receives  4 2 % of the regis tered votes ,  then how manyopponent .  I f  the winner  receives  4 2 % of the regis tered votes ,  then how many
voters  c as t  their  votes?voters  c as t  their  votes?

A nsA ns 1. 27,200
2. 21,670
3. 27,000
4. 21,760

Q .92Q .92 The rat io  of  the ages  of A ni l  and A nk ith is  9  :  4 .  A fter  2  y ears ,  the rat io  of  theirThe rat io  of  the ages  of A ni l  and A nk ith is  9  :  4 .  A fter  2  y ears ,  the rat io  of  their
ages  wi l l  be 2  :  1 .  F ind A ni lages  wi l l  be 2  :  1 .  F ind A ni l ′s  age.s  age.

A nsA ns 1. 18 years
2. 20 years
3. 16 years
4. 8 years

Q .93Q .93 A  pers on s aves  60 % of his  inc ome.  I f  his  expenditure is  ₹680 ,  then his  inc ome ( inA  pers on s aves  60 % of his  inc ome.  I f  his  expenditure is  ₹680 ,  then his  inc ome ( in
₹)  is :₹ )  is :

A nsA ns 1. 840
2. 1,700
3. 1,740
4. 700

Q .94Q .94 A  retai ler  buy s  an elec tronic  item for  ₹1 75.  H is  overhead expens es  are ₹2 5.  HeA  retai ler  buy s  an elec tronic  item for  ₹1 75.  H is  overhead expens es  are ₹2 5.  He
s el ls  the elec tronic  item for  ₹50 0  and makes  x% profit .  The value of x  is :s el ls  the elec tronic  item for  ₹50 0  and makes  x% profit .  The value of x  is :

A nsA ns 1. 140
2. 170
3. 130
4. 150
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Q .95Q .95 The average s alary  of  a l l  the teac hers  in a  s c hool  is  ₹1 2 ,0 0 0 .  The averageThe average s alary  of  a l l  the teac hers  in a  s c hool  is  ₹1 2 ,0 0 0 .  The average
s alary  of  8  s enior  teac hers  is  ₹1 5,0 0 0  and the average s alary  of  the remainings alary  of  8  s enior  teac hers  is  ₹1 5,0 0 0  and the average s alary  of  the remaining
teac hers  is  ₹8 ,0 0 0 .  Find the total  number of teac hers  in the s c hool .teac hers  is  ₹8 ,0 0 0 .  Find the total  number of teac hers  in the s c hool .

A nsA ns 1. 12
2. 13
3. 14
4. 15

Q .96Q .96 A  number is  firs t  inc reas ed by  1 0 %, then inc reas ed by  2 0 %, and then dec reas edA  number is  firs t  inc reas ed by  1 0 %, then inc reas ed by  2 0 %, and then dec reas ed
by  3 0 %.  A fter  given three s ucces s ive percentage c hanges ,  the net  percentageby  3 0 %.  A fter  given three s ucces s ive percentage c hanges ,  the net  percentage
c hange in number wi l l  be:c hange in number wi l l  be:

A nsA ns 1. 8.5% increase
2. 6.4% decrease
3. 7.6% decrease
4. 10.4% increase

Q .97Q .97 E valuate the fo l lowing:E valuate the fo l lowing:

1 850  − [ 4 50  − { 2 1 0  − ( 90  − 60  − 8) } ]1 850  − [ 4 50  − { 2 1 0  − ( 90  − 60  − 8) } ]
A nsA ns 1. 1588

2. 1448
3. 1663
4. 1518

Q .98Q .98 The s el l ing pr ice of 4 0  books  is  equal  to  the c os t  pr ice of 6  books .  F ind the los sThe s el l ing pr ice of 4 0  books  is  equal  to  the c os t  pr ice of 6  books .  F ind the los s
or  gain percentage.or  gain percentage.

A nsA ns 1. 

2. 
3. 
4. 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q .99Q .99

A nsA ns 1. 
           

2 . 

3. 
            

4. 
           

Q .1 0 0Q .1 0 0 The t ime it  takes  for  one tap to  fil l  a  part ic ular  tank  is  1 2 0 0  s ec onds .  M eanwhile,The t ime it  takes  for  one tap to  fil l  a  part ic ular  tank  is  1 2 0 0  s ec onds .  M eanwhile,
it  takes  another  tap 3 0  minutes  to  fil l  the s ame tank .  The t ime taken ( in minutes)it  takes  another  tap 3 0  minutes  to  fil l  the s ame tank .  The t ime taken ( in minutes)
to  fil l  the tank  if  both the taps  are opened at  the s ame t ime would  be:to  fil l  the tank  if  both the taps  are opened at  the s ame t ime would  be:

A nsA ns 1. 20
2. 12
3. 15
4. 19

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

